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What is the difference between the X9 and the X5°9?!

OVERVIEW

The X012 states that by a >0 >0 of PWITP 750 the PTis NXWI ORI (XWIN XY)
xxn X, If it is a "N of PWI A poo the 17 is (even) R¥N NXRWI oX). The X
challenges this ruling and asks X5°0 w"» Xw>7 w"n. The 177 should be the
same by Pw17P 290 and YA P90. Our MooIN is puzzled by this comparison;
it should seem obvious that by Pu72 750 we should be more lenient (for
there is a ™15 nPN) than by w173 poo (where there 1s a X"X npi).

nooIn asks:
= YIN NYN NPINA XOYDI N9 NPINA NNPIND 19 5PN YT NIV NIV 9NN ON)

And if you will ask, it is indeed much different. The X7 and the &9°0 are
very different. For in the case of the X@»3 we should determine her as
being in the presumptive status of a e, and in the X9°0 we should

establish her in the presumptive status of an WX NWR. In the x> where the 277V
are arguing whether she was w701 or not; if we cancel out the 7 she is ™15 npin2. In
the X5°0 where the 07y are disputing whether she was 7w23n1 or not; if we cancel out the
0>y she is WX NWX npa. Therefore by a Pw1Tp 290 if X¥n X2 nXw1 (for she is 711 NPIn2)
and by a w173 poo if NRW1 the 777 is X¥N (for she is X"X Np1n2). What is the question w'"n
N9 w1 XY ?!

N1B0IN answers:
- 939 NPINA NNPINY |9 RT3 Y GN XYII3T 999 Y

And one can say, that in the 82’9 (in the case of Pw17p 790), even though

that we should establish her 7°12 NP2 (and XX she should [even] be

permitted [to marry, and certainly] to remain with her new husband) -
= (0VIN,NY 97 D) PONR 7T P93 NOMTI NN 13297 RPOD 9, 9N DIPN Yan

Nevertheless a case of M n even when there is a N7 NPIN, remains a

333971 ,XIMIMTY MO°KR POY, as is evident from the X713 in PAR "7 D -
- 1929412 N 990Y 19 7

And therefore we should have ruled in the X¥" (in the case of W17p poD),
that the woman should be Xxn from her new husband j1297%2. Why is it that in
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the &9°0 we rule Xxn, and not in the Xw"1 (at least 1331773).1

mooIn offers an alternate explanation:
- NONYN DY INIY ND XYY 1Y DT 1IN 122 12D NI 1195 DIW9)D YN

And others explain that since the xn™121 did not differentiate (neither in
the *Xw™ nor in the X2°0), whether the 2°M0X7 27 came and testified

before she remarried, or whether they came after she remarried; the rule

is always the same -
- 1329 NON 800 25095 93 DNINI 939 INYT NI YNV

We derive from this that the author of the Xn»72 is not %''2%9, but rather

the 3129 who argue with >"2m1 -
- NS NY SINT INY 11PNY KD “NEN ONHN 393 NOSD 19 ON

If this is so that the Xn»72 is according to the 7127 of °"217, then in the X2®
as well (the rule should be X¥n &7), why is she Xxn?! We know that the 1127

of >"2a»7 maintain that in a case of Pw17°3 P20 the rule is 2N X®. Why does this
xn12 rule xxn?1°

SUMMARY

A P90 of n"™in with a N7 NPT, 1s nevertheless 712777 P907n MOX. Therefore
the X3 asks that by a poo of n"in by PP, the 17 should be Xx¥n X5.
Alternately since the 7127 maintained previously that by a n"in P50 by w7,

"It seems that the question X5°0 W"m Xw™ " is not that they are (exactly) the same; but rather that the 17
should be the same.

% See X"y that the 7°X1 is from the Xw*; however in the X9°0 there is no need to be 3551 since the W of XY
XXN NXWw1 aX1 Xwin indicates that it is in a case of NXW1 2"1X1 2>7¥ 1X2. See however 20wn NIX 2°¥177 MIdWA.

3 Previously (on 2,23 77) *"2n7 ruled that in the case of M 0 (by n» or Aw7an1) if the 007 7Y came
after she remarried then Xxn X%, but if they came before she remarried then the 7 is Xxn.

* It appears (at least according to these 2w15» w*) that '01n question (that X1e1 X1 since by 1w} there is a
R"X nprn therefore Xxn) is only if we assume that this Xn>12 of ¥xn follows the view of *01° 12 o " who
maintains X¥n if nXW1 2"nX1 07v W2, However the Xn™M2 cannot follow the view of the 7127 since they
maintain that if nX@1 (in any event) the rule is X¥n X?. The »"> say that the Xn>>72 cannot follow *"3237 since
no distinction is made between NXw1 3"NR1 @°7¥ X2 or O°7V W12 2"nX) NXW1. Therefore the X7 rightfully
asks X2°0 w"m KW w'"n (and you cannot answer that in the X¥n X2 X5°0 since she is X"X npina) since the 1127
disregard this 7P and maintain X¥n X? by 121 7w13 poo.

> The X3 asks X5°0 w"m XK@ w"»; which indicates they should be the same. It seems that the first w170 of
Mmoo explains why the Xw»1 should be like the X5°0 (Xxn); and the »"> explain that the ¥5°0 should be like
the Xw> (Xxn R?). See ‘Thinking it over’ # 2.

® See "M (R X"wan who questions this w170, This ®n*12 can indeed follow the 7w of the 71317
however, in the previous X012 she married 779 7IX> and says °7 "3, therefore X¥n X2; however in this
Xn*72 she married Py 12 TR, therefore the 1°7 is Xxn. One of the commentaries explains that if she was
P 7 TR NRW1 then the expression RN XY NXWI ORY RWIN X7 is not appropriate. It is obvious that she
cannot remarry, and equally obvious that even if she remarried she must leave her husband. o*w5n2 T1v .
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Xxn X?; the same should apply here.

THINKING IT OVER
1. According to the ow1dn w», if this ¥n»2 would follow the opinion of
>"2n7, would there be an answer to the question X9°0 w"n1 Xw™ w"n? Explain!

2. Moo seems to be contradictory.” In the first answer it is assumed that in
both cases the "7 1s X¥n. However in the n" it 1s assumed that in both case it
should be &xn X>!

7 See footnote # 5.
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